MODULE 6 REVISION


-----------------------------------------

Question 1

i)
12, 20, 24, 30, 100

ii)
20, 30, 100

iii)
24

-----------------------------------------

Question 2

1  24, 2  12, 3  8, 4  6

-----------------------------------------

Question 3

(a)
560 ÷ 52 = 10.76 = 11 coaches

(b)
560 × 
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45

  = 252

(c)
560 ÷ 25 = 22.4 = 22 teachers

(d)
560 × 14 = £7840

-----------------------------------------

Question 4

(a)
15, 40

(b)
42

(c)
36

(d)
23

Notes: 

(a)
B1, B1 cao

(b)
B1 cao

(c)
B1 cao

(d)
B1 cao

-----------------------------------------

Question 5

[image: image2.png]



-----------------------------------------

Question 6

(a)
-4, -2, -1, 0, 1, 3, 7

(b)
7 - -4 = 11o

simulatedPageBreak-----------------------------------------

Question 7

(a)
i)
0.125


ii)
12
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(b)
£3218.00  8  = £402.25


£3218.00 - "£402.25"    


Answer = 2815.75

Notes: 

(a)
B1 cao

     
B1 cao

(b)
M1  8, or  "0.125" (full decimal)


M1 (dep) for taking off


OR


M2 for  
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 or  0.875 or  (1 - "0.125") [M1 only if decimal is truncated or


rounded]


A1 cao

-----------------------------------------

Question 8

1 man takes 6×8 = 48 days

4 men take 48÷4 = 12 days

-----------------------------------------

Question 9

(a)
5

(b)
64

-----------------------------------------

Question 10

i) 
22 DM

ii) 
£6.40--£6.50

simulatedPageBreak-----------------------------------------

Question 11

(a)
2

(b)
Graph completed

Notes: 

(a)
B1 cao

(b)
B1 horiz. Line (2,30)  (3,30)


B2 for line from (3,30) to (4,0) or horizontal translation of it.

-----------------------------------------

Question 12

(a)
Tallies


Frequencies 2, 11, 6, 8, 3

(b)
Draw frequency diagram with heights 2,  11,  6,  8,  3

-----------------------------------------

Question 13

(a)
11, 15, 13, (6)

(b)
angles 88º, 120º, 104º, 48º

(c)
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13

 or 
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104

 or 0.29

-----------------------------------------

Question 14

(a)
Red

(b)
i)
 1 - (0.6 + 0.15 + 0.15) = 0.1


ii)
0

Notes: 

(a)
B1 cao

(b)
i)
 M1 for 1 - (0.6 + 0.15 + 0.15)


ii)
 A1 for 0.1



B1 cao
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Question 15

(a)
i)
blue

       ii)
less of them

(b)
mark at 7 cm

(c)
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Notes: 

(a)
i)
B1 cao


ii)
B1 cao

(b)
B1 cao tolerance 0.5 cm

(c)
B1 cao accept 0.8 or better

-----------------------------------------

Question 16

(a)
Isosceles

(b)
y = 180 - 50  - 50  = 80 

Notes: 

(a)
B1 cao. Accept alternative spellings so long as the intention is clear.

(b)
M1 use of two 50 angles eg. 2   50 or 50 + 50 or -50 -50, -50 + 50 (etc) 


or

      100.


A1 cao

-----------------------------------------

Question 17

(a)
i)
145

ii)
Angles on a straight line (total 180) (oe)

(b)
i)
83

ii)
Angles of a triangle (total 180) (oe)

(c)
i)
35

ii)
Vertically opposite angles (are equal) (oe)

Notes: 

(a)
i)
B1 cao

     
ii)
B1

(b)
i)
B1 cao

     
ii)
B1

(c)
i)
B1 {ft if clearly using (a)}

     
ii)
B1 (If correct answer, accept reason "angles on a straight line" for (c)ii)).

simulatedPageBreak-----------------------------------------

Question 18

[image: image8.png](i) Mirror line

(ii)
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